ACTIVE OR PASSIVE
DEFENSE - w/John Koch

More tricks are given away by getting
active at the wrong time, or staying passive when
aggressive play is indicated, than are saved by all
the signals in the world.

Be very careful about suits you lead as a
defender. Assuming there is no dire need for
aggressive play, i.e. there is no running suit in
dummy, you should refrain from leading suits
that give declarer a positional advantage.

(1) Q85
Jo3 K1062
AT74

As East, you wouldn’t think of leading from the
king unless you are desperate for tricks or

convinced that partner has the ace.

(2) A9S
Q74 10832
KJ6

Leading from the 10 into a 9 in dummy is

equally fraught with danger.

3) Q76
A 84 J102
K953

East cannot lead this suit to advantage. The lead
of the jack gives declarer three tricks in the suit;
the lead of the 2 is superior because declarer will
have to be inspired to insert the 9. But don’t

give him a chance to be a hero.

4) aAK64

vQ107

+K63

&AQ10
483 North  South
YK86 1% lv
+Q94 2NT 3y
&J9642 4%

You lead a small club, won by dummy’s
ace. The queen of hearts loses to your king.
What now?

When dummy is balanced, there is
generally no need for haste. Play passively by
leading safe suits. Both club and diamond leads

are dangerous; lead through the strength in

dummy by exiting with a spade. The other
hands:
49752
vJ3
¢A104
K853
4QJ6
YA9852
¢J875
&7
Another example:
4A65
(5) v953
¢+KQ54
&»A95 (You)
41074 4aKQ85
v862 vYA10
+8743 ¢A106
&Q74 10832
4J92
YKQJI74
+J9
&KJ6

South plays in 4¥. Partner leads the #4 to
your queen. What is your strategy?

There is no need for East to get active. He
should play ace and another heart. South wins,
draws trumps, and leads the ¢J. East wins the
first or second round of diamonds and exits with
a diamond. Without help from East, declarer can
no longer make the hand.

(6) aQJ4
vJj742
+864
(You) *A103
24962 473
YK8S5 vYA1096
+AK 103 +J52
287 2Q652
AaAK 1085
vQ3
2a +Q97
*K94

You lead the ¢A against South’s 2¥. When
partner discourages with the 42, you go passive



with a spade. South has six losers and will
eventually lose them all unless you slip up by
giving him help.

(7) 4K 104
vQ54
¢ AKI10
*]82
aJ852
YAKIJ
INT 4973
2K 105

Partner gets off to the best start with the
¥v10. You win the first three tricks. What now?

This should now be routine. Leads from
your #J or the #K are both highly dangerous.
Lead a diamond. You give declarer a free

finesse he can always take anyway. This is the
full deal:

24K 104

vQ54

+AKI10

*J82
4Q73 aJ852
v10987 YAK]J
+864 4973
*A93 #K 105

aA96

v632

+Q52

*2Q764
3)

21043

vK9873

462

#KJ5 (You)
4Q98 aK762
v6 v4
410985 +AKQJ4
2107432 2Q86

aAJS

YAQJ1052
4v +73

*A9

Partner leads the 410 and you take two
diamond tricks. You have only one safe exit—a
heart. Don’t even think about a spade looking at

the #10 in dummy. Declarer has two spade
losers unless you reduce it to one.

(9) aAJI108

vQ3

¢K754

*KJ7
a4 aK92
vJ1085 vYK642
$AT93 +106
*10432 2Q865

4Q7653

YA97
4o +Q82

*A9

You lead the ¥J, queen, king and ace.
Declarer loses the spade finesse to partner’s king
and the ¥2 comes back. You win the ¥8. What
now?

Leading either minor suit is way too risky.
Partner’s ¥2 showed four; therefore, declarer has
another heart. Exit with the ¥10. Declarer has
to come to you and has two inevitable losers.

(10) 4K 96
v7653
+K98
*K 102
a3
vK 1084
4a $AT52
21754

Partner leads the 44 and your first test is
on this trick. You insert the 4J and it holds.
What do you lead at trick two?

Lead the ¥4. You are giving declarer
nothing that he does not already have. He inserts
the ¥Q and it holds. Declarer holds #AJ8754
YAQ2 43 #A96 and has to lose three more
tricks.

(11) 4K 1073
v65
+QJ1092
]38

462

YAKS43 4a

+K75

&»A104



You start with the YAK and declarer ruffs
the second round. Declarer draws trumps with
the #AK with partner following. He now takes
the losing diamond finesse to your 4K. What
now?

It seems that declarer can make his contract
by discarding clubs on the long diamonds, and
that the only hope is to find partner with the #K.
But the right defense is to play safe and return a
diamond. This is a case where you make a count
of declarer’s tricks. He started with five spades
and one heart, meaning that he has seven minor-
suit cards. He can dispose of five of them on
dummy’s diamonds, leaving him with two clubs.
Give yourself the chance that partner has the #Q.
Declarer’s hand was 4AQJ95 ¥2 ¢A86 #K732.
He can discard two clubs but will be forced to
lead up to his #K, which you will win.

In almost all of the above examples,
dummy was almost perfectly balanced. That is
the instant clue to pursue a passive defense.
Another sound policy is when dummy is
extremely weak, don’t break new suits for
declarer.

(12) aJ852

vQ654

498
(You) 2765
aK764 493
v982 YA107
+Q542 +763
*A98 *]432

4aAQ10

vYKIJ3

+AKJ10

2K Q10

Against South’s 3NT, you lead the #4, won
by declarer’s queen. South cashes the king and
jack of hearts. You signal count with the 2 and
8, and partner holds up. South now plays the ace
and 10 of spades, you winning. What now?

The rule is that a defender should not lead
new suits when dummy is weak. These leads just
help declarer. So exit with your last heart! East
wins and pushes through a diamond—up to
dummy’s weakness. The finesse loses, you're
you get out with a diamond. South is left to lead
clubs from his hand. When he leads the king,

you must duck the first round. Now the
defenders take the last two tricks. Rule: when
you are on defense, you generally want declarer
to be on lead at trick twelve. Conversely, it is
usually losing tactics for a defender to be on lead
at trick twelve.

(13)
24Q108 South North
v1097 26 2¢
+Q83 ONT
#KJ52

What is your opening lead?
The ¥10—trying to be as passive as
possible. This is the layout:

49742
v6543
+J104
(You) *106
4Q108 4653
v1097 vQJ8
+Q83 +K962
*KJ52 *Q73
aAK]
YAK?2
¢ATS
*A985

Any lead but a heart gives away a trick. This
strategy must be continued throughout the deal.
Declarer wins the YAK and leads a third round.
Partner wins the ¥Q and leads a spade—his only
safe play. If declarer finesses the jack, win and
return a spade—avoid breaking a new suit.
Actually, declarer’s best play is win the 4AK and
to lead a third round forcing you to win. What
do you lead at this stage, a club or a diamond?

A diamond is fraught with danger because
it risks presenting an entry to dummy. So you
shift to a club. This gives declarer a seventh
trick, but that’s all. A diamond switch would
result in jack, king and ace. Now declarer can
lead to dummy’s 410 to enjoy his two major-suit
winners, which otherwise will wither on the
vine.

The very definition of passive defense is
to MAKE DECLARER LEAD HIS OWN
SUITS.



The Case for Active Defense

When dummy has a long suit which you
can see is going to behave, it is right to take
some risks to ensure that your side gets all its
tricks.

27863
(14) v84

+Q09

*AQ1074

aK9

South North YA952
la 3 +K543
44 2983

Partner leads the YQ which you win with
the ace. What now? It is readily evident that
you must shift to diamonds to take any available
tricks in that suit before they disappear on the
clubs. Even if partner does not have the ace, it
may not matter if declarer wins a cheap trick
with the ¢Q. He is likely looking at five club
tricks, five trumps, the king of hearts and a heart
ruff for 12 anyway.

(15) aKQJI105

YAJI10

¢+ AK

*964 (You)

aA43

North South vK6
1a INT +8532
3NT &K 1087

Partner leads a heart to your king. What
are your chances?

You have only one chance. Try the #10.
Declarer had #QJxx and partner #Ax. Declarer
will cover and partner will win and return a club
to the #7 and #Q. Now when you gain the lead
with the #A, king and 10 of clubs are the setting
tricks.

(16) aJ9
YA 104
*AT4
*#KQ1094
aAKQ76
vK?2
4v +K 86

s#853

South opened 2¥ and North jumped to 4%,
freezing you out. Partner leads the 45, and you
win the queen and ace. What now?

You have one more trick with the king of
trumps. If partner has the #A, you will always
get it, but what if declarer has the #A? Your
only other chance is to find partner with the ¢Q.
Grit you teeth and lead a diamond. Declarer’s
hand: 482 ¥QJ9763 #1073 #A6.

(17) aAJ4
v852
+K 4
*#AKJII105
286
vQ73
4a $A962
28764

Partner leads the 4J and you win the ace.
What now?

It looks like declarer may have 10 black
tricks, the ¢K, and whatever he has in hearts.
Your only chance is in hearts. Lead the ¥Q in
the hope that partner has YAJ10.

(18) aKQ1076
YAQG6
+K93
*76
aA92
v7s
4v +AQ4
*A8742

South opens a weak 2¥ and North jumps to
game. Partner starts with the #Q. You win the
ace. Active or passive?

Dummy’s spade suit is threatening. Your
best chance is a low diamond with the hope that
partner has the 4J, or the 10 and that declarer
plays low. Declarer’s hand:
aJ8 YKJ10942 ¢]J752 #K.

(19) 465
vJ10
*AT654
27654
4aKQ103
vQ92
+732 4v
*K 108



You lead the #K against South’s 4% after
he opened 1% and reversed in spades. Partner
signals with the 49 and your king wins. What
now?

Partner’s high spade probably promises
#J9x. If you play passively, declarer will ruff
two spades with the jack and ten of trumps.
Protect your spade tricks by shifting to trumps.
The right one is the nine.

(20) 242
v965
+QJ1073
*#AKQ
aK95
YA43
3NT 462
298743

Partner leads the #6 against South’s 3NT
and your king is won by declarer’s ace. Dummy
is entered and the diamond finesse loses to
partner’s king. Partner now leads the ¥2 to your
ace. What do you return, a heart or a spade?

What if partner had led the ¥8 instead of
the two?

The ¥2 asks for a heart return and the ¥8
would ask for a spade return.

(21) 463
YAQ95
+AQIJI10
1054
aA854
v83
4v 4962
*A732

Partner leads the #Q and you win the ace?
How do you plan the defense?

There are no tricks in the red suits. You
must shift to a club and you should maximize
your prospects by leading a low club, hoping to
find partner with #KJx or #Kx.

(22) aKQJ9
vQ63
+AKQJ2
*3
aA2
vKJI94
+86 4o
2Q7643

You try the #3 and partner’s king is won
by declarer’s ace. You win the next spade lead.
What next?

This is another surround play. Lead the
jack of hearts, hoping that partner began with the
YA. Declarer will have to cover with dummy’s
queen and your ¥J9 will surround declarer’s
v10x.



